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torque Practice

I Find the force, F, needed to keep the bar level. The bar has a weight of 100. N.
The location of the center of mass is designated by the downward arrow and the W.
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II. Find the location of the fulcrum so that the bar balances. In case A), assume
the bar has negligible mass. In cases B)and C), the location of the center of mass is

again designated by the downward arrow and the W. (Y /'\\”’
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IIT. Find the force, F, needed to balance the bar. In cases A) and C), assume the
bars have negligible mass. In case B), the location of the cenTer' of mass |s again
designated by the downward arrow and the W. ) Qw ~ ( Cean
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